
 

Specification:

P-47D THUNDERBOLT

Length             :1150 mm(45.3")
Wing Span       :1460 mm(57.5")
Wing Area        :36.5 sq. dm 
Wing  Loading  :74 g/sq. dm       
                         24.3 oz/sq. ft
Flying Weight   :2.7 kg(95.2oz)
Radio               :4ch&5 servos
Engine             :40 - 46  2-cycle 
                         50 - 70  4-cycle

MATRIXMATRIX
http://www.rc-matrix.com

mail: info@rc-matrix.com



 

12X6

4

4

4 channel radio for aiplane is highly recommended for this model.

Spinner nut
8



 

2mm  Screw   

Horn 2

2

4

2

Plate

2mm Rod 
2

2

Retainer

Clevis

1.5mm

1.5mm

2mm
8

2.3x12mm TP Screw

Wooden Block
2

2

Servo tray

 

  

2 5

3 6

1 1 4

 

  



2

2

8

4

 

  

8 11

9 1212

7 7 1010

 

 



4x12mm Washer
2

2

2
4mm Blind Nut

4x35mm Screw

A = A 'A = A '

 

A`A

70mm

30mm

3mm

5mm

Reinforcement  Plate

 Leave the space for installing 
fuselage bottom cover.

Reinforcement  Plate

4.2mm

Blind Nut

 

  

14  14  1717

1515 1818

13 13 1616

 

 



Collar 2mm

1
Tail gear supporter

2.6x14mm TP Screw
41

1

  
B'B  

B = B '

 

3x4mm Set screw

2mm45mm

 

  

20  20  2323

2121 2424

19  19  2222

 

 



115mm

1.5mm

3x4mm  Set Screw

2mm Set Screw

2x350mm Rod
2mm Set Screw

2mm Washer

Linkage Stopper
1

1

1

1

1

4

4

4x8mm Washer
4

2x350mm Rod

4mm Blind Nut

4x25mm Screw

3x4mm Set Screw

4

4

8

4

3x8mm Washer

3x30mm  Screw   

3mm Spring Washer 

3mm Nut

3mm

3x30mm  Screw

3mm Washer

3mm Washer 

3mm Nut
3mm Spring Washer  

 

  

26  26  2929

2727 3030

25 25 2828 

 



 

2mm Rod

 

2mm  Screw   

2mm  Screw   

2mm  Screw   

3

6

3

Horn
Plate

Clevis
3

5.2mm

Fuel supply line

Fuel soray line
Air pressure line

4
4mm Blind Nut

 

  

32  32  3535

3333 3636

31 31 3434

 

 

 



Linkage Stopper

2mm Washer

2mm Nut
 

3x4mm

2mm

3x4mm set Screw

1

1

1

1

2
Retainer

2mm

 

  

38  38  4141

3838 4242

37 37 4040

 

 

 



Top

 

10mm
10mm

    15mm

15mm

AILERON

Side View

1.5mm

4
2.3x8mm TP Screw

1.5mm

9
2.3x8mm TP Screw

12mm

12mm

ELEVATOR

Side View Top view

Position for
right diagram.

 

 

  

44  44  4747

4545 4848

43 43 4646 

 



 

100mm

 

  

49 49  

 

重心位置を測ります。
重心位置、前後１０ｍｍ以内でしたら、そのまま飛行させて調整してください。

最初は重心位置前後１０ｍｍ以内に調整して飛行させてください。

バランス調整をせずに飛行すると事故につながります。




